B+ R

et

WU MHDIKIRE 7 57 2 REBIKERETE
(BESEHAEE (REEEHKIER

OEERIEST

[R5 5 o

R OE &

L
0 i % & oW ok B R
(L3 S O

L A

2 K F x & B % I
WRMALZARTAHRAPR

i L

1 4T T T .
M RERSE

Bom %

DEBXITHE) )

i}iF?kbEEﬁ%%!D%ﬁRliﬂk
Y

)
i
X
"
i
i
o
\r 4,‘ '\‘.‘
L {
J
Vi
i
)
L
FEBEA HEEA |
BXEFME EEREEH MRTHETH DEEANE ) DHRBEEE
[€::1°C:)) (TERUHE) (FA)
.3 KERERE
EPOKIERE DRMX (33 [#R pik puko b e 1= R7 ~ R8 97,000
3 FKER(BRR
ismmﬁsmgmmm REIR ik puko b iR 1= R7 ~ R8 27,000
)
ERETEEIORB R (ERE
Eﬁ;mmﬁswgmmmﬁ EEA AT MEER RS 1K R7 ~ R7 82,500
)
EREEEIORE R (ERE
zﬁhkﬁﬁ?&%w&ﬁm;& LTEFE B8 JIIE: g MEERE 1K R7 ~ R8 58,000
)
ERETETORBR (R
zﬁhkﬁﬁ?&%w&ﬁm:& il Bl Bl MEER RS 1K R7 ~ R7 145,100
)
ERETETR PR ERE
FPOKIERS ORWX (SR [AH Bl Bl MEER RS 1K R7 ~ R7 100,296
%%Tﬁﬁfm?%(i%i
SEHEKIE RS OBMR T3 |AA B B e 1= R7 ~ R9 115,000
I —
REFEFKER(BERXE
EHKIERF ORMR T /it &R &R e 1= R7 ~ R7 67.800]
REREFKEX(BRE
SEBEKHE RS OBl X (3 B FT &R &R e 1= R7 ~ R9 146,000
REREFKER(BRE
Gl FERSKET | EEOKET iR 1= R7 ~ R8 37,000

875,696/




B+ R

w= A

o

WL DIKIRER 7 5F 5 E % HEKBEETE tr*‘
(BEEXIHEDEODABTRVHBENDERE) *Q;
(MEDHARTRUSERBEEDET)

B

e \
= Vo
. L ;
il o £ i
Vs
. /
i
- '.l {
=t
-
\\
b 20
o
F .

X2nan

oy
|
" “I
!
{
_J,._\
- .\ o
LY
]
i
/
-8 A
i
1
. !
i
o
1
i
/
/
$
,
(
A
A P
v - 2 .
1 i 1 B { Ne— ! 7
—, r Amid
STl | t
\ \

i
- B SEBEA |
% EE=] FEEHE | SERGEE | WEDETH L E2") owFEH
4 GhEE) (THRUME) (FMm)
o (RSO ey s s sERE 13t RT o~ R7 4,500
P s i sttt EEN e P stmsoE 13t RT o~ R 2,000
X BRISE 2wy T T sERE 13t RT o~ R7 4,000
e | ™ i e e 1%t Re ~ Re 3,000
OEERIEST R | e |iT#a i e stmEE 1%t RO ~ R9 3,000
[ mezssmmen g | | mia iy nisear stmEE 1%t RT o~ R7 1600
' T EEEEEY R | | iy niear e 1%t Re ~ Re 1600
i WMMARKTAABR | M it [REEEAIRR RIS e Jiear Jiear stmEE 13t RIO ~ RIO 1600
] WRRRESLKTAAEE . [ wemirnearans | N 5 g | | = iy nisear stmEE 1%t RI1 ~ RI1 1600
B AT R BlEMERERSE | = G | s RO aws B e 1%t RO ~ R9 3,500
; —
L_¢ EENEE RN L L R R | ™ |t 2RE 2R e 1%t RT o~ R7 1900
[ EREEEEEEED | AR AR ERR | e | | ®RE 2R HESRE 13t RT O~ R 1.900
HEREBRAER | EOM | EOL Tl idisabltc ot sl I 2RE 2R e 1%t RO ~ R9 3,000
| — mrmp |REREAER EEXIIR EEEAR | EEEAR HEmE 1% /o~ R 4500
e | ™ | EREKA | ERSAE stmmE 13t RO ~ R9 4,000
1: 130,000 B 41,700




